LPX 40/60/110
ENCLOSURES

LPX 40 and LPX 60 » Cover Enclosure Kit

MATERIALS

Base plate

Cover plate

Cover screws M3 x 6mm long with star washer
Board screws M3 x 6mm long with spring washer
Nut M4

Washer M4 spring washer

Washer M4 star washer

Insulation sheet

NOTES

1. All dimensions are in mm and (inches ). li / "*"“'"8'5
2. Overall dimension: 9

LPX 40: 150 (5.9) x 98 (3.86) x 38 (1.5)

LPX 60: 150 (5.9) x 986 (3.86) x 50 (1.97)
3. Base plate has 3 sets of customer mountings-

RS K N W U - | [ N N

4x M3 inserts - maximum allowable screw penetration

3mm and {zgr:'ll}nals D

2x 4mm clear holes plus 2 keyways, (see detail A).

Side mountings - 2x M3 inserts - maximum allowable \ )
screw penetration 6mm / Mevlating

4. Ensure insulator is correctly fitted in base under PCB to
maintain safety creepage and clearance distances.

5. Ensure base is firmly connected to supply earth via the
earth stud marked: @

Stand off

AN

Stand off
DIMENSIONS
(5752) N 90.0 ——31.0(1.22)
M e — «——— 15.0 (0.59
170 r (3.54) C;] (0.59)
(@]
(67) ¥~ 00_ see Detal A—" O o——-—? T
\ / 65.0 80.0
4mm dia M3 mt . (3.15)
mtg holes (4 m:;g:) (2.56) 70.0
(2 places) / \ l (275) | 98.0 64
\ Base - 1 v l (3.86) (:25)
N view from above ©, 46 DIA 36DIA
e—«————115.8 (39 petail (14)
8.0, 123.0_(4.56)
31 ‘
N | @8 45 ; f
0O0000000000CO000000000000000
(581) o5 | CRRLIIIEIIRILE, | 43
85 | Badmmimeay| (13
0000000000000 00000000000000
150 Sl ke e A R R
(.59) [ L ™1 380 500 18.0 O— &oooc%oc%o&%ooo%%oo%ooo%oo% 30.0 (3.86)
—¢— _<’I>_ (15 (1o G oL Lo Gie o (1.18)
; * S S S S S S S S SSSSSSSS 555b doo0 ¥
-+ P e
_— n
-»| ) 14:1(3)'30 =| 2 plal)::lesg b - 200 23.0 -
20.0 (4.33) (79) (91)
(.79) 150.0
(5.90) >

Doc No: 1025+ REV 1.5.98

YL

Europe (UK): +44 (0)1384-842211 France: +33 (0)1 4305 8680 Germany +49 (0)6621 50570 ASTEC

r



